Document Number Issue Date Rev. Date

| WATEROUS - DPL82082 | 11/30/95 | 9/28/16

Dimensional Drawings for Priming Pumps

Priming Pump . Transmission Model See Page
Type Model Mounting
C20 and C21 Series 2
VPO On the Transmission by TC20 and TC21 Series P.T.O. 3
Rotary Vane Waterous QC Series 4
WB Series 5
VPOS Separately by the OEM All 6
Manual Diaphragm - Separately by the OEM - 7
Optional Five Quart Priming Lubricant Tank N
(Used when Prime-Safe™ Lubricant is used with VPO or VPOS Priming Pumps)

Waterous Company 125 Hardman Avenue South, South St. Paul, Minnesota 55075 USA (651) 450-5000

Dimensions subject to change without notice




#10-32 STUD—_ 1200
] 28448

up 5/16-18 STUD B 5/16-18
BOTH SIDES—| GROUND STUD

2ls
[T
=8

PRIMING PUMP AND MOTOR MUST BE

MOUMNTED IN THIS ORIENTATION TOD

ALLOW FOR PROPER DRAINAGE

21513
S46.44

DOWN

SOLENOID DETAIL

NOTE:

1 0EM MAY ATTACH HOSES TO 3/4 M. DISCHARGE

PORTS TO DIRECT PRIMER DISCHARGE TO A

REMOTE LOCATION, WATERCUS DODES NOT

FURNISH HOSES, SEE VPOS PAGE & FOR LOCATION OF PORTS. -

=7

SEE SOLEMOID )
DETAIL ABOVE i/ l

TO PRMING VALVE |A—
ﬁ % ISEE DRAWING DPL82083) g—h
)| \‘} [

| j}ﬂ —
\—T'A'D 3/ M. NFT DISCHARGE l_ | E—

FORTS. SEE NOTE 4

24084
&173

C20 & C21 SERIEE TRANEMISSION

ALL DIMENSIONS SHOWM AS INCH/MILLIMETER MODEL VPO, ROTARY VANE PRIMING PUMP
fINCH o x -
| —— MOUNTED ON THE TRANSMISS|ON BY WATEROUS
\MILLIMETER / 12 VOLT SHOWN

DPL82082
PAGE 2 OF 8



#10-32 STUD 3.500

5/16-18 STUD
up BOTH SIDES—|

3500

PRIMING PUMP AND MOTOR MUST BE
MOUNTED IN THIS ORIENTATION TO

ALLOW FOR PROPER DRAINAGE

DOWN

SOLENOID DETAIL

NOTE:

1. OEM MAY ATTACH HOSES TO 3/4 IN. DISCHARGE
PORTS TO DIRECT PRIMER DISCHARGE TO A
REMOTE LOCATION. WATERQUS DOES NOT

TO PRIMING VALVE
(SEE DRAWING DPL82083)

SEE SOLENOID
DETAIL ABOVE

446
133

4
| K
I \ TWO 3/4 IN. NPT DISCHARGE

7.750 PORTS. SEE NQTE 1.
196.85

FURNISH HOSES. SEE VPOS PAGE 6 FOR LOCATION OF PORTS.

==
T
o

12.569

24.084 319.25

TC20 AND TC21 SERIES PTO

(WITHOUT CAFS COMPRESSOR)
24.334

MODEL VPO, ROTARY VANE PRIMING PUMP

MOUNTED ON THE PTO BY WATEROUS
12 VOLT SHOWN

618.08
(WITH CAFS COMPRESSOR)

4.500

430 |

21763
552.79
(WITH ECLIPSE ES CAFS)

21513
546.44
(WITHOUT ECLIPSE ES CAFS)

5/16-18

GROUND STUD

ALL DIMENSIONS SHOWN AS INCH/MILLIMETER

(

INCH

MILLIMETER

)

\‘K:;%

g

DPL82082
PAGE 3 OF 8



9777
#10-32 STUD ~— 11.200 24835
) 7.217
up 5/16-18 STUD 183.20
BOTH SIDES —
il
O
(=)
5 u]
PRIMMNG PUMP AND MOTOR MUST BE ’ X
MOUNTED IN THIS ORIENTATION TO s _
ALLOW FOR PROPER DRAINAGE | i a2 G
T T e
R {/c
Se——
DOWN S/16-18 TO PRIMING VALVE
GROUND STUD — (SEE DRAWING DPL&Z083)
SOLENOID DETAIL \

SEE SOLEMNOID DETAIL \

MOTE:

1, OEM MAY ATTACH HOSES TO 3/4 N, DISCHARGE
PORTS TO DIRECT PRIMER DISCHARGE TO A
REMOTE LOCATION, WATEROUS DOES NOT
FURMNIZH HOSES.

%

\\—T'»'U 34 N, NPT DISCHARGE PORTS
SUPPLIED WITH BARZED FITTINGS
FOR 3/4 IN. TUBING.

I

QC SERIES TRANSMISSION

MODEL VPO, ROTARY VANE PRIMING PUMP
MOUNTED ON THE TRANSMISSION 8Y WATEROUS
24 VOLT SHOWN

ALL DIMEMSIONS SHOWN AS INCH/MILLIMETER
{ IMCH )
“MILLIMETER #

DPL82082
PAGE 4 OF 8



#10-32 STUD

up 5/16-18 STUD

BOTH SIDES

PRIMING PUMP AND MOTOR MUST BE
MOUNTED IN THIS ORIENTATION TO
ALLOW FOR PROPER DRAINAGE

13.286
337.47

DOWN
SOLENOID DETAIL

NOTE:
1. OEM MAY ATTACH HOSES TO 3/4 IN. DISCHARGE
PORTS TO DIRECT PRIMER DISCHARGE TG A
REMOTE LOCATION. WATEROUS DOES NOT
FURNISH HOSES. SEE VPOS PAGE 6 FOR LOCATION OF PORTS.

TO PRIMING VALVE
(SEE DRAWING DPL82083)

SEE SOLENQID
DETAIL ABOVE

TWO 3/4 IN. NPT DISCHARGE
PORTS. SEE NOTE 1.

7.636
193.96 22.719
577.05
WB SERIES TRANSMISSION
ALL DIMENSIONS SHOWN AS INCH/MILLIMETER MODEL VPO. ROTARY VANE PRIMING PUMP
<L> MOUNTED O’N THE TRANSMISSION BY WATEROUS DPL82082
MLLIMETER 12 VOLT SHOWN PAGE 5 OF 8



2752 /-3;;, NET INTAKE PORT

2% 5/16-18 UNC—2B 14610
MOUNTING HOLES 41065 1/8 MPT PLUG (OPTIONAL ENVIRONMENTALLY
ROTH SIDES ENERT] SAFE LUBRICANT PORT)

d —

2,000
50.80

5.40

1000
2!

17.01

FPRIMING PUMP AND MOTOR MUST BE
MOUNTED IN THIS ORIENTATION TO
ALLOW FOR PROFER DRAINAGE

H10-32 5TUD

2532
6431
MOUNTING PAD—
=
L
o s
&% 2m ml®
D e I
]
&~ |1
x ﬁ']_ E
ol I:‘> —
S i L_ ] -3 -
— i 1 1 1
1 i 1 1 1
ol i Bl |
1 T 1
DOWN ; 1375 1877 |
- oan_f 3492 W7 a7
MOUNTING PAD LTWD 3/4 IN. NPT DISCHARGE PORTS 12124
OEM MAY ATTACH HOSES TO DIRECT PRIMER 30755
DISCHARGE TO A REMOTE LOCATION.
WATEROUS DOES NOT FURNISH HOSES.
ALL DIMENSIONS SHOWN AS INCH/MILLIMETER
a - ' ' MODEL VPOS, ROTARY VANE PRIMING PUMP

:’ INCH 1 SEFARATELY MOUNTED BY THE OEM
*MILLIMETER ¢ 12 VOLT SHOWN



DPL82082
PAGE 6 OF 8



4.250

107.95
NET " BOTH INLET AND QUTLET 5500
‘ 139.70
| | 4X 250/6.35 HOLES
ON 6.125/155.58 BC REF
D
@ [0 =
© g m g
o|n ~N =
SN
o N
m|a h
© |13 , 2
o , 59
=Im / e
%L @
— % 4?7
T
T
OUTLET
I
4.331
285.75
MANUAL DIAPHRAGM PRIMER
ALL DIMENSIONS SHOWN AS INCH/MILLIMETER
< INCH >
MILLIMETER
DPL82082

PAGE 7 OF 8



©.040/1.02 VENT HOLE
MUST BE KEPT OPEN AND CLEAR

$.060/152 VENT HOLE .250/6.35 TUBING TO PRIMING PUMP
MUST BE KEPT OPEN AND CLEAR (NOT SUPPLIED BY WATERQUS)
i
/— ———J
/ \/.360/9.14 X .438/1113 SLOT

®
®
13.625
346.08

mn|m
[\‘O_
O I~
— I~
SP) @"y—i
&
r
m|o
xo‘@_
mn
N | =1
|| I T E— J—
ALL DIMENSIONS SHOWN AS INCH/MILLIMETER
!UJ <7‘N[H >
A g MILLIMETER
6.500
165.10 4.250
107.95
7.695
195.45
6500 OPTIONAL PRIMING LUBRICANT TANK
T'B_go CAPACITY: 5 QUARTS/4.73 LITERS
(TO BE MOUNTED BY OEM)
DPL82082

PAGE 8 OF 8



